

2A

① $\lim_{n \rightarrow \infty} \frac{2n - n^3 + \frac{4}{n}}{n^2 + 3n^3 - \frac{5}{\sqrt{n}}} = \lim_{n \rightarrow \infty} \frac{n^3}{n^3} \cdot \frac{\frac{2}{n^2} - 1 + \frac{4}{n^4}}{\frac{1}{n} + 3 - \frac{5}{\sqrt{n} \cdot n^3}}$ (2+3) (1) (3) (1)
 $\stackrel{AL}{=} \frac{0 - 1 + 0}{0 + 3 - 0} = -\frac{1}{3}$

② $\lim_{n \rightarrow \infty} \sqrt{2n^2 + 3} (\sqrt{n^2 + 2} - \sqrt{n^2 - 4})$ (1+1+2) (1) (2)
 $= \lim_{n \rightarrow \infty} \frac{\sqrt{2n^2 + 3} (n^2 + 2 - n^2 + 4)}{\sqrt{n^2 + 2} + \sqrt{n^2 - 4}} = \lim_{n \rightarrow \infty} \frac{6\sqrt{n^2} \sqrt{2 + \frac{3}{n^2}}}{\sqrt{n^2} (\sqrt{1 + \frac{2}{n^2}} + \sqrt{1 - \frac{4}{n^2}})}$
 $\stackrel{AL}{=} 6 \cdot \frac{\sqrt{2+0}}{\sqrt{1+0} + \sqrt{1-0}} = \underline{3\sqrt{2}}$ (1)

veľa o odmocninách

③ $\lim_{n \rightarrow \infty} \sqrt[n]{2^n + n + 3 + \log n} = 2$

(5+1)
 $2 = \sqrt[n]{2^n + 0 + 0 + 0} \leq \sqrt[n]{2^n + n + 3 + \log n} \stackrel{(*)}{\leq} \sqrt[n]{2^n + 2^n + 2^n + 2^n} = \sqrt[n]{4 \cdot 2^n} = \sqrt[n]{4} \cdot 2$
 \downarrow
 2
 \downarrow
 $1 \cdot 2 = 2$
 ① ze 2 policajtu i $\lim_{n \rightarrow \infty} \sqrt[n]{2^n + n + 3 + \log n} = 2$

③ (*) platí od istého n_0 : $\forall n \geq n_0$ ze stále

$n \leq 2^n$ to je isté $\frac{n}{2^n} \leq 1$ $\lim_{n \rightarrow \infty} \frac{n}{2^n} = 0$ lebo $\exists n_1 \forall n \geq n_1$
 $\frac{n}{2^n} \leq 1$
 $3 \leq 2^n$ $\frac{3}{2^n} \leq 1$ $\lim_{n \rightarrow \infty} \frac{3}{2^n} = 0$ $\exists n_2 \forall n \geq n_2$ $\frac{3}{2^n} \leq 1$
 $\log n \leq 2^n$ $\frac{\log n}{2^n} \leq 1$ $\lim_{n \rightarrow \infty} \frac{\log n}{2^n} = 0$ $\exists n_3 \forall n \geq n_3$ $\frac{\log n}{2^n} \leq 1$

analogicky

$n_0 = \max \{n_1, n_2, n_3\}$

$$\textcircled{1} \lim_{n \rightarrow \infty} \frac{n + \sqrt{n} - \frac{5}{n^4}}{\sqrt[4]{n^3 + 3n + 6}} = \lim_{n \rightarrow \infty} \frac{n}{n} \cdot \frac{1 + \frac{1}{\sqrt{n}} - \frac{5}{n^4}}{\frac{1}{\sqrt[4]{n}} + 3 + \frac{6}{n}} \stackrel{\text{VOAL}}{=} \frac{1+0-0}{0+3+0} = \frac{1}{3}$$

$$\textcircled{2} \lim_{n \rightarrow \infty} \sqrt{4n} (\sqrt{n^3-1} - \sqrt{n^3-4}) = \lim_{n \rightarrow \infty} \frac{\sqrt{4n} (n^3-1 - (n^3-4))}{\sqrt{n^3-1} + \sqrt{n^3-4}}$$

$$= \lim_{n \rightarrow \infty} \frac{\sqrt{4n} (n-1)}{\sqrt{n^3-1} + \sqrt{n^3-4}} = \lim_{n \rightarrow \infty} \frac{n\sqrt{n}}{n\sqrt{n}} \cdot \frac{\sqrt{4} - \frac{2}{n}}{\sqrt{1-\frac{1}{n^3}} + \sqrt{1-\frac{1}{n^2}}}$$

$$\stackrel{\text{VOAL}}{=} \frac{\sqrt{4}-0}{\sqrt{1-0} + \sqrt{1-0}} = \frac{\sqrt{4}}{2} = 1$$

$$\textcircled{3} \lim_{n \rightarrow \infty} \sqrt[n]{\frac{1}{2^n} + n + 4^n + \sqrt{n}} = 4$$

2 pdicaži

$$4 = \sqrt[n]{4^n} \leq \sqrt[n]{4^n + n + \sqrt{n} + \frac{1}{2^n}} \leq \sqrt[n]{4 \cdot 4^n} = \sqrt[n]{4} \cdot 4$$

↓ AL

1.4

$$\exists n_0: \forall n \geq n_0 \quad n \leq 4^n \text{ protože } \lim_{n \rightarrow \infty} \frac{n}{4^n} = 0$$

$$-4- \quad \sqrt{n} \leq n \leq 4^n$$

$$\frac{1}{2^n} \leq 4^n \quad \forall n \in \mathbb{N}$$

$$\textcircled{1} \lim_{n \rightarrow \infty} \frac{n^4 - \sqrt{2}n}{n^4 + 3n^2 - 9n} \stackrel{\textcircled{2+3}}{=} \lim_{n \rightarrow \infty} \frac{n^4}{n^4} \cdot \frac{1 - \frac{\sqrt{2}}{n^3\sqrt{n}}}{1 + \frac{3}{n^2} - \frac{9}{n}} \xrightarrow{\text{L'H\^opital}} \frac{1-0}{1+0-0} = 1$$

\downarrow 0 \downarrow 0

$$\textcircled{2} \lim_{n \rightarrow \infty} (n-2) (\sqrt{n^2-1} - n) \cdot \frac{\sqrt{n^2-1} + n}{\sqrt{n^2-1} + n} = \lim_{n \rightarrow \infty} \frac{(n-2)(n^2-1-n^2)}{\sqrt{n^2-1} + n}$$

$$= \lim_{n \rightarrow \infty} \frac{-1 \cdot n}{n} \cdot \frac{1 - \frac{2}{n}}{\sqrt{1 - \frac{1}{n^2}} + 1} \xrightarrow{\text{L'H\^opital}} -1 \cdot \frac{1-0}{\sqrt{1+0} + 1} = -\frac{1}{2}$$

$$\textcircled{3} \lim_{n \rightarrow \infty} \sqrt[n]{5^n + 2 + \sin n} = 5$$

2 polcajti

$$\sqrt[n]{5^n} \leq \sqrt[n]{5^n + 1} \leq \sqrt[n]{5^n + 2 + \sin n} \leq \sqrt[n]{5^n + 3} \leq \sqrt[n]{2 \cdot 5^n}$$

||
5

||
 $\sqrt[2]{2} \cdot 5$
 \downarrow AL
1.5

pol.

⑤ ② lim

① pol.

②
sabit